SAP ABAP table UBC TB RADVAL {Account Assignment Default Values on Level of Bill Type}

UBC_TB_ACT
MANDT [CLNT (3)]

UBC_TB_RADVAL-CNT = UBC_TB_ACT-CNT [ ORG [CHAR (10)]
CNT [INT1 (3)]

UBC_TB _ACTV
MANDT [CLNT (3)]
ORG [CHAR (10)]
CNT [INT1 (3)]
VAL [CHAR (20)]

UBC_TB BIL
MANDT [CLNT (3)]
ORG [CHAR (10)]

BIL [CHAR (10)]
.- -~ __ [ uBC_TB_ORG
~. UBC_TB_RADVAL-RA = UBC_TB_RA-RA o N
L BB MANDT [CLNT (3)]
N ORG [CHAR (10)]
R UBC_TB_RA

~—— MANDT [CLNT (3)]
0..N' [ORG [CHAR (10)]

BIL [CHAR (10)]

RA [CHAR (10)]




